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OTBETbTE HA
BOINPOCHI

1. Kakue eavHuvubl ANs
Nn3MepeHusa nnowanen Bbl

3HARTES rakoe 1 cM?, 1 AM?, 1
2




PaboTta no ctatbe
yyeOHUKa

(kB9

5 ra=50 000 m?
3ral8a=31800Mm’
247 coTOoK =24 700
MZ

16 a = 1600 m?
420 000 M2 = 42 ra




‘Ne747 (ycTHO)
N2748 (yCTHO)
Ne749
(MMCbMEeHHO}

PN




s nouas

4mMl12cm<?, B4pa3a< ?

4 M 12 cM=412 cm
1) 412:4=103 (CM)- LLULMPUHA
2) 103*412=42 436 (KB.
CM) S




Ne765 (paboTa B
nape)
500*182%2=182000
12*21%25=4*3*25%3=6300
125*65*8=65 000
8*309*50=2*50*309*4=123600
4N, 47429%25=42 900
6-23*125=8*125%23*%2=46000







